The Roaring 20s
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Paper 2: The USK, 1917729 A4 The USA, 1917-29

* The impact of the First World War on the USA
* Immigration
* Prohibition and gangsterism

* Mass production and the stock market boom

* The Roaring Twenhes

* The position of black Americans

¢+ Economic benefits. Isclationism. Attitudes to Versailles settlement and the
League of Nations. Protectionist policies.

« Attitudes to immigration. Policies to restrict immigration. The ‘Red Scare’. The
Sacco and Vanzett Case.

* Reasons for the introduction of and failure of prohibition. Organised crime,
including Al Capone.

* Reasons for economic boom in the 1920s. Henry Ford and mass production. Hire
purchase, consumerism and the popularity of the stock market. Problems in
farming, including over-production and mechanisation. The decline of older
industries.

* The leisure industry, cinema, Jazz, dancing, sport, radio, advertising and
motoring, morals and values and the "Monkey Tnial". The changing position of
women, including the flappers.

* The Jim Crow Laws, segregation and discrimination. The Ku Klux Klan. The
influence of Marcus Garvey and W.E.B. Du Bois.
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P&p@ﬂ' 2: (S@OﬂOn A) The USA, 1017429 This question is about the Roaring Twenties. Study Sources A, B, C and D and then answer all the

questions that follow.

Paﬂ Imm‘r @mtm Source A: A newspaper advertisement for a car in 1927.

o e

(Sample Niaterial)

i Source B: From a speech by Herbert Hoover in October 1928.

We have increased home ownership. Today there are almost nine automobiles for every ten
families. Seven years ago only enough automobiles were running to average less than four every
ten families. Our people have more to eat, better things to wear, and better homes. Wages have
increased, the cost of living has decreased. The job of every man and woman made more secure. We
have in a short period decreased the fear of bovertv. the fear of unemblovment. the fear of old aae.

Source C: From the New York Herald Tribune, early 1929,

Any US citizen willing to get up early enough can look out of his own windows and see a trail
of thousands of workmen’s automobiles scooting down the boulevards to their factory or new
building destination. Even ten years ago this great mass of labour had to live around the corner in
a hovel next to the factory or hang on street cars at six o'clock in the morming in order to reach the
building site.

b,




Paper 2: (Section A) The USA, 1917729

" Source D: From a history of the USA between the wars, 1987.

P&ST PCHPIBT @mtm By 1920 Americans owned a total of seven million cars. By 1930 the total had risen to nearly twenty-

five million. Car ownership brought a major change in people’s lives and the success of the car
manufacturers ensured the prosperity of other industries too. However, government policies of

(Sanmle Ml?HTEIH al) laissez-faire and protection also stimulated industrial growth.

Study Source A.

(a) What can you learn from Source A about life in the USA during the 1920s¢

Study Sources B and C.

(b) How far does Source C support the evidence of Source B about life in the USA
during the 1920s? Explain your answer.

Study Sources A, B, C and D, and use your own knowledge.

(c) "The main cause of the boom of the 1920s was the car industry!

Use the sources, and your own knowledqge, to explain whether you agree with this

view.
(15)

(Total for Question A4 = 25 marks)
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B4: The USA, 1917-29

This question is about Prohibition. Study Sources A, B, C and D and then answer all the questions
that follow.

Source A: A painting completed in 1934. It shows attempts by bootleggers to avoid
detection.

Source B: From an interview with Charlie Berns, who ran a speakeasy in
Mew York during the 1920s.

Every speakeasy had to make some arrangements with the cops to survive. In our case it wasn't
exactly a showdown, nothing on a regular basis, more like an act of friendship. We would bribe
the captain of the cops with a 550 bill from time to time and the cops on the beat with a box of
cigars. They could always count on us for free meals and drinks. At Christmas time, of course, we

had a gift for everybody.



Paper 2: (Seo[ion A) The USA, 1917729 " Source C: From an interview with a policeman in Chicago in the 1920s.
| was assigned to 12th Street. A guy dashed up to me and said, This is for you. He handed me an

Paﬂ I»mm‘r @]ﬁ?ﬁtm envelope. | opened it and there was 575 in it. The payoff was such a common thing. Believe me,
3 | never went seeking it. | did not want to take bribes. It just came as a matter of course. | tried to

do my job. We went out on several raids on speakeasies and made convictions, but most of the

time we ignored the drinking.

" Source D: From a modern history textbook, published in 1996.

Prohibition proved impossible to enforce effectively in cities. Not enough Prohibition agents were
appointed and many were corrupt. Millions of US citizens, especially in cities, were not prepared to
obey the law and as a result bootleggers made vast fortunes. By 1925, there were more speakeasies
than there had been saloons in 1919, Prohibition also failed due to the rise of crganised crime.
Estimates suggest that gangsters made about 52 billion out of the sale of illegal alcohol.

Study Source A.

(a) Give three statements that could be inferred from Source A about Prohibition.

Study Sources B and C.

(b) Dioes Source C support the evidence of Source B about the attitude of police to
speakeasies! Explain your answer.

{7)
Study Sources A, B, C and D, and use your own knowledge.
() ‘The main reason for the failure of Prohibition was corrupt officials.
Use the sources, and your own knowledge, to explain whether you agree with this
ViEW.
(15)

(Total for Question B4 = 25 marks)
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Past Paper Questions

B4: The USA, 1917-29

2 O 12 This question is about Henry Ford, mass production and the economic boom of the 1920s. Study

Sources A, B, Cand D and then answer all the questions that follow.

Source A: A photograph of a seaside resort near Boston, Massachusetts, 1926.

Source B: Henry Ford, speaking in 1921.

It is better to sell a large number of cars at a small margin of profit than to sell fewer cars at a larger
margin of profit. | believed this because it enables a larger number of people to buy and enjoy the
use of a car. It also gives a larger number of men employment at good wages.

Source C: From an interview with a retired US businessman in the 1970s.

Within a few years, roughly from 1918 to 1924, everything utterly changed. Suddenly everybody
owned a motor car. It seemed as though we were freed by Henry Ford. All we needed was to make
more cars and build bigger houses. Then we began to realise that along with Ford cars came dust,
dirt, car crashes and the inevitable problems of the assembly line.
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